KIRESBKE RIVERERE R ET R

B FE =

FTHTETR

T g A BRER



IEE KIRABBBRE DRIV ERIEERETER

% g B - BT B % 8 B (@ ® 8 m =
B R 28,930,033 + 705, 222 29, 635, 255
EEAE 28,930, 033
BEEEE 705, 222
T DR T 28,930,033 x 53.85% ( 35% + (1 — 35% ) ) 15,578, 822
KR 29,635,255 + 15,578, 822 45,214,077
—REEEE 45,214,077 x 53.85% ( 35% + (1 — 35% ) ) — 1,857 24,345,923
RS 45,214,077 + 24,345,923 69, 560, 000
EEREHELE 69,560,000 x 10.00% 6, 956, 000
RBERRH 69,560,000 + 6, 956, 000 76, 516, 000




BEANRE KIRABBBRE DRIV ERIEERETER
% b R - Rk Bf £ B ® # W E
EER® 29, 635, 255
KIREEBE o RIIVEHFRES 29, 635, 255
Bt 29, 635, 255
BErekE 28,930, 033
i - e 564, 000
1 T8¢ (GREthE 1.00 564, 000 564, 000
=
EAERIMR R R R 11,086, 130
2 EAEREIEHR B ERR 1.00 11,086, 130 11,086, 130
=
JEH AR EHEREt 17,144, 483
REF =BT X5 1.00 17, 144, 483 17, 144, 483
=
NCEES 135, 420
4 NEARMEAER 1.00 135, 420 135, 420
=
EiERE 705, 222
& 5,222
5 RE (FRETEH) 1.00 5,222 5,222
=
R 700, 000




WENRE KBRBS B IV ER R BRI ETS

% i1 B - MR Bifg % ] = # =

feln

6 (BRER 1.00 700, 000 700, 000




Kffi&- I/ \v7r—>

KERBZ B IV RFEEHREER

H5 1
2 fTEE GrEHRE) IEED)
% f] R - BIKTE BARL = B ® it w =
EE2THEHD)
A 3.50 66, 900. 00 234,150
HEm (A)
A 3.50 59, 600. 00 208, 600
HEm (B)
A 2.50 48, 500. 00 121, 250
& &t {YE%8ERH : 1.00=X 564, 000. 00 564, 000
&5 .2
B ERABERGESREEHRRE 1XHY
% b R - BRTiE BAfL = B ® # i1 w =
EE2THEH))
A 20.70 66, 900. 00 1,384, 830
HEm (A)
A 38.10 59, 600. 00 2,210,760
e (B)
A 59. 50 48, 500. 00 2, 885, 750
HEm (C)
A 58. 40 40, 300. 00 2, 353, 520
B8
A 60. 70 36, 100. 00 2,191,270
& E28EH : 1.00= 11, 086, 130. 00 11, 086, 130




KAl - T/ S — KIRA BN 7 )L BRI B REHTS

5 :3
& FERAREEIEE 1Ly
% b R - K& BAGT H = B O(f ® # W E w =
BEE
A 4.22 77, 500. 00 321,050
EXETACH))
A 29.15 66, 900. 00 1,950, 135
FEf (A)
A 61.76 59, 600. 00 3, 680, 896
FAf (B)
A 80. 62 48, 500. 00 3,910,070
KEm (C)
A 89. 91 40, 300. 00 3,623,373
Hittg
A 101.19 36, 100. 00 3,652,959
& B {YE%8ERH : 1.00=X 17,144, 483.00 17,144, 483
H5 4
A NFRABRSIER 1KLY
% b R - K& BARL #H = B O(f £ % Hm E B %
HEm (C)
A 1.30 40, 300. 00 52, 390
Hittg
A 2.30 36, 100. 00 83, 030
& b 1EZEEAN - 1.00K 135, 420. 00 135, 420
EF:5
A RE GRETER) 1KLY
% b A - KA B #H = B O{f £ W E w =
REXEE
= 1.00 5,222.00 5,222
& E 1EZEEA - 1.00K 5,222.00 5,222




KAl - T/ S — KIRA BN 7 )L BRI B REHTS

EF5:6
2 EBARR
% f] R - BIKTE BAf #H = LI i ® B E I
EBHRRE
= 1.00 700, 000. 00 700, 000
=1 &t YEZHERN 1,00 700, 000. 00 700, 000






